étr/? $ $ $ iT murto -osien vihennys (sama nimittéja)

Nimi: Paivimaara: Pisteet:
6_3_ 3 2 _
8 8 4 4
S_2_ 3. 1_
8 8 9 9
12 6 1_
4 4 9 9
13 6 3 _
6 6 4 4
2 1 3 2
33 9 9
2 1 71
4 4 3 3
S_2_ 6 2 _
8 8 9 9
6_1_ 7 3_
4 4 8 8
53 35
9 9 4 4
53 71
77 2 2
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i/? $ % $ iT murto -osien vihennys (sama nimittéja)

Nimi: Paivamaara: Pisteet:
6_3_3 321
8§ 8 8 4 4 4
5 2 3 3 1 2
8§ 8 8 9 9 9
11_2_3 6 1 5
4 4 4 9 9 9
o3 6 3_3
6 6 3 4 4 4
21 _4_,1 3_2_1
3 3 3 9 9 9
2 1 1 7 1
== ——1-=1
4 4 4 3 3
523 6_2_4
8§ 8 8 9 9 9
6_1_5_,1 731
4 4 4 4 8 8§ 2
5.3_2 3.5 1
9 9 9 4 4 2
532 7,
7 7 7 2 2
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